MA 161M EXAM 3 : Nov. 21, 2002

Name __/ (”;/
(10 pts) 1) Find the absolute maximum and minimum of f(z) = z/(z + 1) on the interval [0, 2].
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(10 pts) 2) Show that 3z° + 30z + 5 = 0 has a root in the interval (—1,0) and that this is the

only real root.
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4) Let f(z) = ze®.

(5 pts) (a) Find asymptotes, if any of f. As z~+er, ew 4ot sv e too
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(5 pts) (b) Find intervals of increase and decrease of f and find local maxima and minima,
if any. ’
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(5 pts) (c) Find intervals of concavity and inflection points, if any.
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5pts) (d) Find all intercepts.
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(10 pts) (e) Sketch the graph, indicating the point (1, f(1)) and the points found in (b), (c)

and (d). (Recall: e = 2.71828) AY
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(15 pts) 5) Find the two points on the parabola 2y = z? — 8 that are closest to the point (0, 4).
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(10 pts) 7) Find the value of a such that the area under the curve y = sinz, 0 < z < 7 equals
the area under the curve y = e®, 0 < z < a.
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